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Run 4522 gquartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4522 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4522 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

[ Enlries 1095
— Mean =0 GO05082
30— Sid Dev 0.04514
25—
20—
15—
10—
51—
D —l 1 rII 1 1 ﬂ| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |_| 1 1
—0.15 0.1 —0.05 0 0.05 0.1
PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 4522 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beami_last diif
4000 — Entlries 65643
[ Mean —0.0002052
— Std Dav 0.2263
3500 —
3000 —
2500 —
2000 —
1500 —
1000 —
500 —
'D:'|"'| [ [ T TN NN A A NN N N T N
-1 -0.5 0 0.5 1 1.5 2

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD




12000

10000

BOOO

6000

4000

2000

000

G000

5000

4000

3000

2000

1000

Run 4522 quartetwise, NegHelAccO/NSamples0:

All
quartetwize_negHQ
Entries 183156
Mean 9.047
Std Dev 2.632

B

10

12

MNegHelAccD/NegHelNSampleso

Run 4522 quartetwise, NegHselAccl/NSamples: Beam ON, Laser ON
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Run 4522 quartetwise, PosHelAccO/NSamplesO: All Run 4522 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4522 quartetwise, Sums0: All Run 4522 quartetwise, Sums0: Beam OFF
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